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CKM1T 5l

« Charged current weak interaction Lagrangian
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WolfensteinlZ&bHFREE A =sind. ~ 0.22
(L. Wolfenstein, Phys. Rev. Lett. 51, 1945(1983))
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CPIEfR1F £ (3

$1 = 21.15° 1020
b = 89.0° Ti3
[0-‘53 = 7I° +%§>o]

(CKMfitter, 2010)
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D->K*K

C
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- AE T4k

B->DK

B->Dn

yield : 13,576 %118

yield : 15,307 £ 127

Gpoq = 0-01467 Z 000040 G, gq = 0-01792%0.00033
= _ 0,/ Oy = 2.36:+0.16 -~ - 01 Oy 5= 2.62+0.13
S 1800/ BB = 796+ 101 S 1800/ BB= 773+83
3 e ig. = + s F Sig. = 11861+ 134
S el Sig. = 10018 + 139 S 00 i
o P E Y, Yg, = 0.725 %0032 z E Y,/ Ygy= 0.781%0.017
§ 1400 — expcoeff  =-9.120 + 0.59 E. 1400 — expcoeff, = -7.574 £0.52
K @ et mean, = 0.00048 + 0.00028 G 4a00- mean, = 0.04756 £ 0.00025
E mean, - mean, = -0.00822 + 0.0018 r mean, - mean, .. = -0.01578 + 0.0028
C :Sig 2 1:8ig
1000 — ‘ 1000 — ‘
= T F T
800 . >h 332 800 . ~hz
600 ¥ZIndf = 0.786292 )( 600 ¥2Indf = 0.636899 x*
..k 400 0 400— 0
v | ™. 10.0x=0.1%]| = 11.9+0.1%
i Fopogrepepedepngenpoy ] . " L J | yerert LIPS PR RO b . L J |
Q1005 0 005 04 RS 6 93005 0 005 04 0d5 020 0
AE (GeV) AE (GeV)
n L]
yield : 10,018+139 yield : 11,861£134
Gy.gq = 0.01048 £ 0.00021 ‘ Gygq = 0-01406 = 0.00021
~ 4000 0,1 Gy5g = 2.04£0.11 ~  3500" 6,/ Gpgg = 2.31+0.18
§ E BB = 244+25 § C BB = 359+ 34
S 3500 Sig. = 13576+ 118 S 3000 Sig. = 15307 + 127
K 2 30000 Y,/ Yg,= 0.840:+0.031 P - Y,/ Yy, = 0.899:+0.019
E, = expcoef‘fhh =-8.168 £ 0.73 § 2500— ' expcoeffbb =-7.895+0.63
) |§ 2500 mean, = 0.00028 £ 0.00010 w E mean, = 0.04780 £ 0.00013
F 2000—
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E L 1500— - . ~_I7
1500 — ;'; SU? s ZN 2
F ¥2Indf = 0.461314 AN c ¥2Indf = 3.106515 | )( Z
E )‘ 1000
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TSN DA\ R

EEDT—2TIL., 772 x 106 {@& (711 fbl) DB BN E RSN 7=
ERIEFLONS,

A(B_ — DOK_)
A(B— — D°K~)

A(DO — K*+K_)
AD° - K*TK—

rp = | | = 0.101, rp = | | = 0.589

ELTRE—FDERMZERIELDHLE.
Opposite mode BT — [K*FK¥|pK*: 1,060 events

Same mode BT — [K**KT]pK*: 375 events

K*DERIED IR LLERT—RFDEENEMNG,

Opposite mode Same mode Ool 2R DIE B

K*> K0 35 events 13 events =N 4 events

K*>Ksn 33 events 12 events =N 4 events
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BB +qfg ET7A/LO

K*>Kn, EEODT—2D2EDH A4 X 4qq suppression(& L TLVZELY

O Ite mode Same mode
Em:iess‘_mfésaz Em::é;'m:slxsn
Mean  0.07163 Mean  0.07402
T RMS 0.1112 @ 600 RMS 0.1127
— 18862 c ~— total : 18373
K B fake : 17852 3 500k 5 fake : 16062
qq_bkg : 15154 Q qq_bkg : 15364
D — — true : 311
™ i
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i .‘ - '-"“',,, s ! ! ™ e
200 , 200 ; ; e ' S
m 100 ﬂ Slgﬂa| 1010 100 Slgﬂa| 311
R Ea i TEEey: 5 e -l,J—'f-r‘Tf-"L!‘H_-'i R e T
%.1 0 0.1 0.2 0.3 S23.1 0 0.1 0.2 0.3
AE AE
e
» 300 @ 300 Rus 04131
g r g o — total : 10115
r I .
s S 250@- P B 8 250:_%" Jay “1: .k;n:osn
B EQE, " et Eﬁg) m — true: 25
D 200 LA B - 200 : R mm _
® a e “—-ﬁ - - H 5 "’“—' £, ] -m - —
¢ 150 (SRR ] il o 150 ' i ST
100pi G = : : 100 falEHEE AT i o
ad - Signal: 83 o Signal: 25
%Z : Rl o e e E : e S 1
1 0 01 0.2 0.3 q) 1 0 0.1 0.2 0.3
AE AE

k. &K Fr:signal F:£BG #%:qqBG
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BB +qfg ET7A/LO

K*>Ksn, EEDT—FD21EDH A X 2%qq suppression(EL TLVELY

Opposite mode Same mode

B->Dnr

-AE hi E hist_total
- Entri - Entries 1278
Mean Mean  0.07835
» 60 RMS 1111 n 60 RMS 0.1115
- I e
g o — total : ] ~ total : 1278
o 50 BB fake : o 50 5 fake : 1250
[§] qq_bk (] qq_bkg : 1174
—true : 77 — true : 28
—tue:28 |

Signal: 77

b ol

HE o ;
0.2 0.3 0.2 0.3
AE AE

B->DK

k. &K Fr:signal F:£BG #%:qqBG
15



K*>KstE—KIZH [T SHpeaking BG

. - BB MC
MCTHEDT. ED &SI B B
ARVNEER L= ZSER o o,
ITEHCEMNTED, 200l B 1
) Efkid
‘Doé KsKr (nonresonant mode) ‘ | F o5

PDG(2006)I2&5 &,
BR(D’ - K,K ") = (3.440.5) x 107°
BR(D" — [Kn gt K7) = (1.2£0.3) x 107°

DOMphase spaceldIEE IR =8 RELFE 5T 5,
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Dalitz Plot

FILHIRETHLELGHIRISKE
DO BALTETLSAHEELH S,
DO>??>KsKn

K*t

/N

KSTI'

\/V »

EKFIZHAEHET
massz L TH 5,

Doé KsKn@ Dalitz Plot

mZ(KTE)
nonresonant model(&

—RKRIZHMI S

,_ « K*
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Dalitz Plot

FILHIRETHLELGHIRISKE
DO BHLTETWSAEEELH B,
DO>??>KsKn

g ? > Doe KsKr@® Dalitz Plot

KSTI'

\/V »

ERICHAEHET mZ(Kn)
massz L TH 5,

,_ « K*

nonresonant modelX

—RKRIZHMI S
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£-E—K MDalitz Plot (BB)

B->Dnr, MC(BB), EEDT—2D2EDH A4 X

Opposite mode

Same mode

K*=> Kn0

N

——&% Same mode -

?_ﬁ_& Opposite mode

K*2>Ksn

Opposite mode,
Same modeh'E
BL\D/\v95
oAy M N A

Nonresonant

mode (—#k%
)Mo
SV RIZHS

NSDINVIT ORGSO FILFEBIZ A TS =8,

BEICHRIVEND D
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» 51 (qq suppression)

4 1% (g0 suppression)
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qd suppression

DO FILEQQANRNU R THATDELGEDHINGA—3%
Neural Net (NeuroBayes)IZA/>FykL . DEESE 5,

= Sl =1
o.z:— s ] Al 1 ; 0.15—
°u: 1-—;._2 0.4 06 03 1 e E Y-S 1 -3.35
LR(KSFW) s 6,
B
e B'}/' e e q; e’ AQB T Az T
E >q< beam / / beam
L VA
spherical jet-like B decay another B decay
— ete...
R:TFIL
F:q9 #k:uds #%:charm
~, O=— =
BT RRIG/INGA—FZRELF
21



 A/kAF DI

« .M AITE

e DOK*KDEEHT

« 4 1(qg suppression)
- BEHYIC

HHYIZ

22



LHCb& D EEER

Belle (Y. Horii, CKM2010)

B* — Dr*, D — K*r¥

LHCb (M. Williams, CKM2010)

......
m = (1863.8 + 0.9) MeV
6= (7.8£0.8) MeV

{ L mhﬂ%ﬂi
. | + fulillll +,.I:,llf1 : ;E'm: l-
mp (MeV)

136%12 events, 300 nb-1

8000

7000F
> 6000f-
[ C
= 5000F
hld F
“» 4000F
I 3
g 3000

2000F

1000F

Ly

1 0 0.1
AE (GeV)

0.2

0.3

| Y. Horii

49,164 £ 245 events, 711 fb-1
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LHCb& D EEER

LHCb (M. Williams, CKM2010) Belle (Y. Horii, CKM2010)

B* — Dr*, D — K*r¥
8000
7000F

7900 : o0 33 "o AEé;V) dz 0.
136%12 events, 300 nb-1 49,164 £ 245 events, 711 fb-1
1fblf=hH&---
(REXRFTE)
~450,000 events
BelleofZ !
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LHCb& D EEER

LHCb (M. Williams, CKM2010)

136%12 events, 300 nb-1

§ G55

~450,000 events
Belle@ 9f&!!

Belle (Y. Horii, CKM2010)

B* - Drt, D> K*rnT

49 164+ 245 event
—G:E)T:/Si/u

1folf=hbHL&--- (LHCb—C‘“"ct' ..

Al HE.

| KELx(2)

« BGHMZL. D EBEER
MEELLY,

¢ IRILF—HELKsH
RSN TRRELAGLY
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FEH

A=A —ZATDOAED—DTHAHh,(tree diagramTHIE
TE. ZTDREITIHFMEBIERICEVWTEEZLGREIZR-T,

LHL. §5[F3DDADHFTHRLFEMNEL FEATEAK
HoN TS,

OBIE DT DB [K*K] KD FEFTIZM T TEVTHILA
KB 2alb—avEFETL, EHOAEEMZ RLIzEE
%1ZPeaking background’g & DS REHBAS M IZL 1=,

4 1% I1%qq suppressionz{TLY, LY VY TFLHEENEBLND
FoIZL TS,
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Back Up
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A\

|
1

I

auji

B*, B-Mopposite mode, same mode® 73 I k.

A[B- = K- (K**K™)p] = |ABfuﬂ[1+WBrDa“B+&r¢Bq Opposite mode
AB~ - K~ (K*"K™)p] = V@Apkﬁij+ryﬂ%‘%‘%ﬂ Same mode
A[B* — K*(K*"K¥)p] = |ApAp|[1+rprpei®+p+4)]  Qpposite mode
A[BT — K*(K*K")p] = |ApAp|e® |rp+rpei®=92%%)| Same mode
Ap| |A(B~ — D°K-) Ap| [A(D® - K*+EK-)
"B A :|A(B——>D0K—) TP, :|A(D0—>K*+K—|

ol FMEDBIE THREICGAESN TS (BEXIE) &9 5,
>KRENEILS,, O, g, 0:DAD, DU LL DA ZEIL T NILEEIT D,

4 2 2 \2 )
COSQﬁ _ (R1—|—R3—2) —(R2+R4—27‘D)
P T AR~ 1)(Rs — 1) = (Ro — 13)(Ra — 1))
\_ y,
- _ _ *+ 17— 2

ABAp
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Reconstruction of K*t — K1t7°% mode

Signal

MC

-~

B
100%/\
DO

10096“/\¥
K*t K~

K—|—

~

100% /\

7T0

100% "\

~

B—I—
v

K~ generically

~

100,000 events

/
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Selection criteria

Impact parameter

|dr| <5mm , |dz| < 5cm

n0 reconstruct

E, > 30 MeV | yyael < 40

Mpc & AE 5.27 < Mpc<5.29, |AE|<0.04
PID for all charged K : PID(K) > 0.8
S IM(K*1®) — M(K**)| < 0.075

IM(K**K") — M(DY)| < 0.0159
helicity angle for K* : |cos6| > 0.4

Best candidate
selection

Use y? of Mpc & M(DP)

31



Reconstructed parameter

AE My (beam constrained mass)

Entrie:temp 9974 m_bc Entrie':emp 9974
Mean -0.0005018 Mean 5.279
250__. T T T T T T T T T T RMS 0.0_1:339 T T T T T T T T T T T T T T T T RMS 0.002715
C . 300
s00 Red : true
sk Blue : fake ’00
100
- 100
50
r ]
0=%o0sa 002 0 o002 0.04 0
delta_e
0
D" mass
htemp htemp

Entries 9974 Entries 9974
Mean 1.864 Mean 0.8891

" — T T — T T T L— RMS 0.007195 — T T T T T T T T T T T — RMS 0.03111
2001 - 2501~ e
: . 150 =
100 = g :
- . 1001 =
50 7 C .
- . 50— .

0 e il 0 i L R

dOmass kstmass

9,974 events are reconstructed.
Detection efficiency i1s 9.97+0.10 % .



Reconstruction of K*T — K¢n™ mode

Signal MC

4 B B\
100% ,/\ l
DO J— Yenerically
100% N\
Kt K~
100% A\
Ks 7™ 100,000 events

1000/P/\
_|_ —

NG /




Selection criteria

Impact parameter

|dr| <5mm , |dz| <5cm

Mpc & AE 5,27 < Mpc. <5.29, |AE| <0.04
PID for all charged K : PID(K) > 0.8
for all charged = : PID(m) < 0.2
M(r*m) — M(Ks)| < 0.00208
mass M(Ksn*) — M(K**)| < 0.075
M(K**K-) — M(DY)| < 0.0159
helicity angle for K* : |cos6| > 0.4

Best candidate
selection

Use y? of Mpc & M(D9)
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AE

Reconstructed parameter

My (beam constrained mass)
EntrieTemp1 3583 [ m_bc | “hiemp

Mean 0.0002317 Entries 13583

500 .
400~
300
200

100

-0.02 "0 0.02 0.04 5.27 5275  5.28 5.285

Mean 5.279
L — LI — ™| RMS 0.01204
T = — —T— T RMS___ 0.002535

| ed :true s00f E

200

100

delta_e m_bc

Feemp [kstmass | hiemp

Entries 13583 Entries 13583
Mean 1.865 Mean 0.8897
RMS 0.02963

500
400

300F

200

100

T T T T T T T T RMS 0.00486 T T T T T T T T T T T T
.
- m
e - —
-k u
o = u
L —
P
. - -
B B
. 300 —
- T B b
. 1 | _
T
L —
. = .
L -
.
- - B 7
] 200 -
- 7 B . B
e — -
- 4 B T
.
. b - b
- -
e = -
. -
e 1 00
o B — —
| - -
0 .

1.86 187  1.88 0.85 0.9 095
dOmass kstmass

13,583 events are reconstructed
Detection efficiency is 13.6+0.1 % . .



Sum & Asymmetry

Neg = N[B® — (K®K™)p K]

(Nopp:N_++N+_ h

A N_, —N,_ Opposite mode
N NN
4 )

Neame = N__ + Ny

) B N__—N.. Same mode
NN
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] B fit

B->Dn, K'>Kr® mode N

opp ’A

opp

Events / ( 0.008 )

Events / ( 0.008 )

total
Entries
Mean 0.02726
RMS  0.08018
= total : 3702
= true : 1008

i fake : 2694

3702

400

350

300

250

200

150

100

50

0
-0.1

-0.05 0 0.

05 01 0.15
AE (GeV)

G\.5 = 0-019756 + 0.000901
A_Dpi =-0.02298 + 0.0362
BB(+) = 1152.4+ 43.2

BB(-) = 1201.5+ 43.7
N_Dpi= 1348.2 + 56.1
expcoeffbb =-6.9731+ 0.222

220 Zinaf = 1.117902 |
200

180
160
140
120
100
80
60
40
20

IIIIHNII T [[—U—Illllllwl”llllllllll

0.05

15 0.2 0.25 0.3

0.1 0.
AE (GeV)

N,,, = 1348.2%£56.1,

opp

AE (B & B)

Events / ( 0.008 )

Events / ( 0.008 )

A

400

350

300

250

200

-P—||||||||||\||||||||||||

150

100

50

-0.05 0 0.

O..sig = 0.01952 + 0.00100
g, “71:5ig =41£141

BB = 2266+ 86

Sig. = 1436+ 81

expcoeffbb =-7.186+ 0.31
mean ;= 0.04761:+ 0.00090

x2Indf = 0.967297

2201 y2indf = 0.709125

200
180
160
140
120
100
80
60
40
20

0.05

opp

0.1 0.
AE (GeV)

-0.023%0.036

15 0.2 0.25 0.3




[&] B fit

B->Dr, K'>Kn® mode N, Agame

Events / ( 0.008 )

total

Entries

400

350

300

250

200

150

100

50

0
-0.1

Events / ( 0.008 )

-0.05 0

Mean
RMS

3009
0.02942
0.08924

— true

== total : 3009

312

5 fake : 2697

0. 5 0.2 0.25

05 01 0.1
AE (GeV)

0.3

Gy gq= 0018257 0.00154

220
200
180
160
140

0
0.1

A_Dpi = -0.04991+ 0.0605

[ x®ndf = 1187547

|| BB(+)= 11746+ 425

-0.05 0

BB(-) = 1191.7+ 42.1
N_Dpi = 642.6 + 47.0
expcoeffbb =-6.1371+ 0.208

0. 5 0.2 0.25

05 0.1 0.1
AE (GeV)

N, = 642.6+47.0,

AE (B* & B) Gy.5ig = 0.0189£0.0016
400 o,/ O.sig = 46+1.6
- BB = 2313+ 71
350~ Sig. = 696+ 59
C expcoeff =-6.246+ 0.25
. 300 b/ N
w E mean = 0.0473 + 0.0014
8 250
o C
I 200
P -
1 r
§ 150 -
g ¥2Indf = 1.142672
w
100
50
01 005 0 005 01 015 02 0.2
AE (GeV)
AE (B')
[--]
o
e
o
[72]
1]
c
]
>
w

A

same ~

0 0.

05 0.1 0.15 0.2 0.25
AE (GeV)

-0.050=+0.060
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] B fit

B->Dn, K'>Kst mode N

opp ’A

opp

+ - total
AE(B &B) En!rie: = 2215

Events / (0.008 )

Events / (0.008)

Oy5iq = 0-013559 % 0.000341

400 Mean 0.03109
RMS  0.05569

350 = total : 2215
= true : 1197
300 & fake : 1018

250

200

150

LARRNRARRN AN RARRN RRRAN RARR

100

50

5 0.2 0.25 0.3

0
-0.1 -0.05 0 0.05 0.1 01
AE (GeV)

- A_Dpi = -0.02544 + 0.0264
2200~ y2ndf = 0.778072 || BB(+) = 3181+ 205

200 BB(-) = 311.3+20.2

180 N_Dpi = 1585.4+ 42.6

160 expcoeff, = =-10.5562+ 0.544

140

120

100
80
60
40
20

TTI|lll[llII]IIIIITIIITIIIIIIIIII

0
0.1 -0.05 0 0.05 15 0.2 0.25 0.3

01 0.
AE (GeV)

Nopp = 1585.4+42.6,

AE (B* & B)

Events / ( 0.008 )

Events / ( 0.008)

A

400

350

300

250

200

150

100

50

0.1 -0.05 0 0.

Oy.gig = 0.01472: 0.00038
S, IU1:SIQ = 7.59+0.77

BB = 384+ 34

Sig. = 1831+ 51

Y, Ysa; = 0.860 + 0.020
expcoeffbb =-23.60+ 3.2
mean,, = 0.04758 + 0.00042

05 01 01
AE (GeV)

x2Indf = 0.972646

5 0.2 0.25 0.3

2200-( y2/ndf = 0.737886

200
180
160
140
120
100
80
60
40
20

0
0.1 -0.05 0 0.05

opp

0.1 0.
AE (GeV)

=-0.025%0.026

15 0.2 0.25 0.3
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] B fit

B->Dr, K*QKSR mode Ngme » Asame

400

total

Entries 1075

350

300

250

200

150

Events / ( 0.008 )

100

T T[T [T [T T[T T[T [TTTT

0
-0.1  -0.05 0

Mean 0.03065

RMS _ 0.06162

= total : 1075
= true : 333
& fake : 742

5 0.2 0.25 0.3

0.05 0.1
AE (GeV)

G5 = 0-014086  0.000544

A_Dpi = 0.0260 + 0.0406

| | BBM)= 1859+ 156

Events / (0.008 )

0
-0.1  -0.05

BB(-) = 194.8 + 16.1
N_Dpi= 694.3+ 28.8
expcoeffbb =-9.1083 + 0.625

0.05

0.1 0.15 0.2 0.25 0.3
AE (GeV)

N, = 694.3+28.8,

AE (B & B)

400

= 0.01518 £ 0.00057
= 7.37+0.79

C1:sig

350

300

250

200

150

Events / ( 0.008)

100

50

o,/ O4:sig
BB = 192+ 21
Sig.= 883+ 34
Y, Ys. = 0.784 + 0.027

ig
expcoeff, =-27.34+4.4
mean, = 0.04746+ 0.00066

%2Indf = 0.524205

05 0.1 ) 0.1
AE (GeV)

0. 5 0.2 0.25 0.3

Events / (0.008 )

1]
0.1 -0.05

0.05 15 0.2 0.25 0.3

01 0.
AE (GeV)

A, = 0.026+0.041



BB +qfg ET7A/LO

K*>Kn, EEODT—2D2EDH A4 X 4qq suppression(& L TLVZELY

Opposite mode Same mode
i T hist_total
En(ri::sst_mt138862 Erirlos 18373
600 Mean  0.07163 - Mean  0.07402
0 —RMS___ 01112 5']_— . I @ RMS __ 0.1127
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K*>Ksn, EEDT—FD21EDH A X 2%qq suppression(EL TLVELY

BB +qfg ET7A/LO

Opposite mode

Same mode
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£-TE—F M Dalitz Plot (BB+q0Q)

B->Dn, MC(BB+qq), EEDT—FD2EDH A4 X
Opposite mode Same mode

~————%— Same mode 2% Opposite mode
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£-E—K DDalitz Plot (BB)

B->Dr, MC(BB), EEDT—2D2{EDH A4 X

Opposite mode

Same mode

K*=> K0

———- Same mode

———3— Opposite mode

K*2>Ksn
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£ E—F DDalitz Plot (qq)

B->Dn, MC(qq), EEDT—3D2ZENDH A4 X

Opposite mode

Same mode

K*=> K0

m?(Kk»*r?)

1.5

0.5

m?(Kk»r®)

1.5

0.5

K*2>Ksn
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